

CONVERGENCE OF SOLUTIONS OF NONLINEAR DIFFERENCE EQUATIONS

BY

J. MORCHAŁO and A. SZMANDA

Abstract. There are established the sufficient conditions for the convergence of the solutions of equation (1).

Key words: Nonlinear difference equation, convergence.

We shall be concerned with the difference equation

$$(1) \Delta^3 x(n) + a\Delta^2 x(n) + b\Delta x(n) + h(x(n)) + p(n, x(n), \Delta x(n), \Delta^2 x(n)) = 0$$

where $I = \langle n_0, \infty \rangle \subset N_0 = N \cup \{0\}$,

$D = \{(n, x, y, u) : n \in N, |x| + |y| + |u| < \infty\} \subset R^4$,

$|\cdot|$ - euclidean norm,

$h : R \rightarrow R$, $p : D \rightarrow R$ and h, p are continuous for $x \in R$ and $(n, x, y, u) \in D$ respectively and differentiable as functions of x , respectively of x, y and u , a, b , are constants,

Δ - "difference operator" is defined by

$$\Delta x(n) = x(n+1) - x(n), n \in N_0,$$

and

$$h_x(x), p_x(n, x, y, u), p_y(n, x, y, u), p_u(n, x, y, u)$$

are derivative and partial derivatives of $h(x)$ and $p(n, x, y, u)$ respectively.

By a solution of (1) we mean a real sequence denoted by $\{u_n\} \equiv u(n)$ satisfying equation (1) for $n = 0, 1, 2, \dots$

Definition 1. *Solutions of (1) are said convergent if, for every pair of solutions $x(n)$ and $y(n)$ of (1)*

$$(2) \quad \lim_{n \rightarrow \infty} [x(n) - y(n)] = 0.$$

Definition 2. *Solutions of (1) are said convergent strongly if, for every pair of solutions $x(n), y(n)$ of (1)*

$$\lim_{n \rightarrow \infty} [x(n) - y(n)] = 0,$$

and

$$(3) \quad \lim_{n \rightarrow \infty} [\Delta x(n) - \Delta y(n)] = 0,$$

and

$$\lim_{n \rightarrow \infty} [\Delta^2 x(n) - \Delta^2 y(n)] = 0.$$

The present work is a continuation of an earlier investigation by the first author [2]. The main purpose of the present paper is to establish certain criteria for the convergence of all bounded solutions of (1). In particular, we have obtained various conditions for the convergence of all solutions of (1).

The problem similar to (2) for differential equations was discussed among other by the LASOTA [1], MUNTEAN [4], SWICK [5] and YOSHIZAWA [6].

Theorem 1. *If all solutions of the equation*

$$(4) \quad \begin{aligned} &\Delta^3 z(n) + (a + p_u(n, x, y, u))\Delta^2 z(n) + (b + p_y(n, x, y, u))\Delta z(n) + \\ &+ (h_x(x) + p_x(n, x, y, u))z(n) = 0 \end{aligned}$$

tend to zero as $n \rightarrow \infty$ for arbitrary $|x| + |y| + |u| < \infty$, then all bounded solutions of (1) are convergent.

Proof. Let $x_1(n), x_2(n)$ be a pair of defined on $I \subset N_0$ and bounded

solutions of (1) and let V be a function

$$\begin{aligned}
V(n, s) &= V(n, s, x_1(n), x_2(n)) \\
&= s\Delta^3 x_1(n) + (1-s)\Delta^3 x_2(n) + as\Delta^2 x_1(n) + a(1-s)\Delta^2 x_2(n) \\
&\quad + bs\Delta x_1(n) + b(1-s)\Delta x_2(n) + h(sx_1(n) + (1-s)x_2(n)) \\
&\quad + p(n, sx_1(n) + (1-s)x_2(n), s\Delta x_1(n) \\
&\quad + (1-s)\Delta x_2(n), s\Delta^2 x_1(n) + (1-s)\Delta^2 x_2(n)).
\end{aligned}$$

Let $n \in I$ is an arbitrary, then

$$\begin{aligned}
V(n, 0) &= \Delta^3 x_2(n) + a\Delta^2 x_2(n) + b\Delta x_2(n) + h(x_2(n)) \\
&\quad + p(n, x_2(n), \Delta x_2(n), \Delta^2 x_2(n)) \equiv 0,
\end{aligned}$$

and

$$\begin{aligned}
V(n, 1) &= \Delta^3 x_1(n) + a\Delta^2 x_1(n) + b\Delta x_1(n) + h(x_1(n)) \\
&\quad + p(n, x_1(n), \Delta x_1(n), \Delta^2 x_1(n)) \equiv 0.
\end{aligned}$$

Applying the mean value theorem there exists $\{q_n\}$, $(0 < q_n < 1)$ such that

$$\frac{\partial}{\partial s} V(n, q_n) = 0 \quad \text{for } n \in I,$$

i.e.

$$\begin{aligned}
&\Delta^3 x_1(n) - \Delta^3 x_2(n) + a(\Delta^2 x_1(n) - \Delta^2 x_2(n)) \\
&+ b(\Delta x_1(n) - \Delta x_2(n)) + h_x(q_n x_1(n) + (1 - q_n)x_2(n))(x_1(n) - x_2(n)) \\
&+ p_x(n, q_n x_1(n) + (1 - q_n)x_2(n), q_n \Delta x_1(n) + (1 - q_n)\Delta x_2(n), q_n \Delta^2 x_1(n) \\
&+ (1 - q_n)\Delta^2 x_2(n))(x_1(n) - x_2(n)) \\
&+ p_y(n, q_n x_1(n) + (1 - q_n)x_2(n), q_n \Delta x_1(n) + (1 - q_n)\Delta x_2(n), q_n \Delta^2 x_1(n) \\
&+ (1 - q_n)\Delta^2 x_2(n))(\Delta x_1(n) - \Delta x_2(n)) \\
&+ p_u(n, q_n x_1(n) + (1 - q_n)x_2(n), q_n \Delta x_1(n) + (1 - q_n)\Delta x_2(n), q_n \Delta^2 x_1(n) \\
&+ (1 - q_n)\Delta^2 x_2(n))(\Delta^2 x_1(n) - \Delta^2 x_2(n)) = 0.
\end{aligned}$$

It is clear that $z(n) = x_1(n) - x_2(n)$, is a solution of (4) for $n \in I$ if

$$\begin{aligned}x &= q_n x_1(n) + (1 - q_n) x_2(n), \\y &= q_n \Delta x_1(n) + (1 - q_n) \Delta x_2(n), \\u &= q_n \Delta^2 x_1(n) + (1 - q_n) \Delta^2 x_2(n).\end{aligned}$$

Since all solutions of (4) tend to zero as $n \rightarrow \infty$, it follows that all solutions of (1) converge since $x_1(n)$ and $x_2(n)$ were arbitrary solutions of (1).

In the next theorems we display different type conditions under which all solutions of the equation (4) tend to zero as $n \rightarrow \infty$. Then, according to theorem (1), all bounded solutions of (1) are convergent.

Theorem 2. *If there exists constants $\alpha, \beta, a_i, b_i, c_i, (i = 1, 2, 3)$ such that in D :*

$$1^\circ \quad \alpha > \beta^2 \geq 0, \quad \alpha(\alpha - \beta^2) > 1,$$

$$2^\circ \quad 2A - \alpha A^2 \geq a_1 + b_1 + c_1, \quad a_1 > 0, b_1 > 0, c_1 > 0,$$

$$2B - \alpha - 2\beta - \alpha\beta^2 \geq a_2 + b_2 + c_2, \quad a_2 > 0, b_2 > 0, c_2 > 0,$$

$$\alpha - 1 - 2C^2 \geq a_3 + b_3 + c_3, \quad a_3 > 0, b_3 > 0, c_3 > 0,$$

$$3^\circ \quad (2B + 2A - 2\alpha - 2\alpha AB)^2 \leq 4b_1 a_2,$$

$$(2\alpha BC - 2 - 2C - 2\beta)^2 \leq 4a_3 b_2,$$

$$(2\beta + 2C - 2\alpha AC - 2)^2 \leq 4c_3 c_1,$$

where

$$\begin{aligned}(5) \quad A &= A(n, x, y) = h_x + p_x(n, x, y, u), \\B &= B(n, x, y, u) = b + p_y(n, x, y, u), \\C &= C(n, x, y, u) = 1 - a - p_u(n, x, y, u),\end{aligned}$$

then all bounded solutions of (1) are convergent strongly.

Proof. By setting $z(n) = w_1(n)$, $\Delta z(n) = w_2(n)$, $\Delta^2 z(n) = w_3(n)$, the equation (4) may be replaced with the system

$$(6) \quad \begin{aligned} w_1(n+1) &= w_1(n) + w_2(n), \\ w_2(n+1) &= w_2(n) + w_3(n), \\ w_3(n+1) &= -Aw_1(n) - Bw_2(n) + Cw_3(n) \end{aligned}$$

or

$$(6') \quad w(n+1) = M(n)w(n)$$

where

$$M(n) = \begin{bmatrix} 1 & 1 & 0 \\ 0 & 1 & 1 \\ -A & -B & C \end{bmatrix} \quad \text{and} \quad w(n) = [w_1(n), w_2(n), w_3(n)]^T.$$

Consider the quadratic form

$$(7) \quad \begin{aligned} W(w) &= W(w_1, w_2, w_3) = [w_1, w_2, w_3] \begin{bmatrix} \alpha & \beta & 1 \\ \beta & 1 & 0 \\ 1 & 0 & \alpha \end{bmatrix} \begin{bmatrix} w_1 \\ w_2 \\ w_3 \end{bmatrix} \\ &= \alpha w_1^2 + 2\beta w_1 w_2 + 2w_1 w_3 + w_2^2 + \alpha w_3^2, \end{aligned}$$

which is positive defined according to 1°. Consider the variation of W along the solutions of (6)

$$\begin{aligned} \Delta W(w(n)) &= W(w(n+1)) - W(w(n)) \\ &= \alpha w_1^2(n+1) + 2\beta w_1(n+1)w_2(n+1) + 2w_1(n+1)w_3(n+1) \\ &\quad + w_2^2(n+1) + \alpha w_3^2(n+1) - \alpha w_1^2(n) - 2\beta w_1(n)w_2(n) \\ &\quad - 2w_1(n)w_3(n) - w_2^2(n) - \alpha w_3^2(n) \\ &\leq -a_1 w_1^2 - c_2 w_2^2 - b_3 w_3^2 \end{aligned}$$

which is negative defined according to 2° and 3°.

We conclude from this that, the equation (6') is asymptotically stable, and all its solutions tend to zero as n tends to infinity.

According to Theorem 1 all bounded solutions of (1) are convergent or strongly convergent.

The relation (6) may be written as a system

$$(8) \quad w(n+1) = Pw(n) + Q(n)w(n),$$

where

$$P = \begin{bmatrix} 1-\alpha & 1-\beta & 0 \\ 0 & 1-\alpha & 1-\beta \\ 0 & -b & 1-a-\alpha \end{bmatrix}, Q(n) = \begin{bmatrix} \alpha & \beta & 0 \\ 0 & \alpha & \beta \\ -h_x - g_x & -g_y & -g_u + \alpha \end{bmatrix}$$

$\alpha, \beta = \text{const.}$

Theorem 3. *Suppose there are a constants $\alpha, \beta \in R$ and the function $\varphi : N_0 \rightarrow R^+ =]0, \infty[$ with $\Delta\varphi(n) < 0$, $\sum_{n=0}^{\infty} \varphi(n) < \infty$ and $(|P| + |Q(n)| + \varphi(0) - 1) < 0$ for $n \in N_0$, then all bounded solutions of equation (1) are convergent strongly.*

Proof. Define

$$\bar{V}(n, w(\cdot)) = |w(n)| + \sum_{s=0}^{n-1} \varphi(n-s-1)|w(s)|.$$

Along solutions of (8) we have

$$\begin{aligned} \Delta\bar{V}(n, w(\cdot)) &= |w(n+1)| - |w(n)| \\ &+ \sum_{s=0}^n \varphi(n-s)|w(s)| - \sum_{s=0}^{n-1} \varphi(n-s-1)|w(s)| \\ &\leq (|P| + |Q(n)| + \varphi(0) - 1)|w(n)| + \sum_{s=0}^{n-1} \Delta\varphi(n-s-1)|w(s)| < 0. \end{aligned}$$

Therefore under the conditions $(|P| + |Q(n)| + \varphi(0) - 1) < 0$, $\Delta\varphi(n) < 0$ it follows that the equation (6) is asymptotically stable, and all its solutions

tend to zero as $n \rightarrow \infty$. Then by Theorem 1 all bounded solutions of (1) are convergent strongly.

System (6) is equivalent to the system

$$(9) \quad w(n+1) = Pw(n) + Q(n)w(n)$$

where

$$P = \begin{bmatrix} 1 - \alpha & 1 & 0 \\ 0 & 1 - \alpha & 1 \\ 0 & -b & 1 - a \end{bmatrix}, Q(n) = \begin{bmatrix} \alpha & 0 & 0 \\ 0 & \alpha & 0 \\ -h_x - g_x & -g_y & -g_u \end{bmatrix},$$

$\alpha = \text{const.}$

Theorem 4. *Suppose that*

$$1^\circ \alpha \in R, \alpha > 1, \alpha > 2 - a \text{ and } (\alpha - 1)(1 - a) < b,$$

$$2^\circ \sum_{n=0}^{\infty} |Q(n)| \leq c < \infty,$$

then all bounded solution of (1) are convergent.

Proof. Let ϕ denote fundamental matrix of system

$$w(n+1) = Pw(n),$$

then, by the variation of constants formula the solution of (9) is given by

$$(10) \quad w(n) = \phi(n, 0)w(0) + \sum_{s=0}^{n-1} \phi(n, s+1)Q(s)w(s).$$

From assumption 1^o it follows that $|\phi(n, s)| \leq M\eta^{(n-s)}$, $n \geq s \geq 0$ for some $M \geq 1$ and $\eta \in (0, 1)$. Thus

$$w(n)\eta^{-n} \leq M|w(0)| + M\eta^{-1} \sum_{s=0}^{n-1} |Q(s)|\eta^{-s}|w(s)|.$$

Then applying the Gronwall inequality one obtain

$$|w(n)| \leq \eta^n M |w(0)| \exp[M\eta^{-1} \sum_{s=0}^{n-1} |Q(s)|].$$

This proves $w(n) \rightarrow 0$ as $n \rightarrow \infty$.

Consequently all solutions of the equation (1) are convergent strongly.

Consider the equation corresponding to equation (6')

$$(11) \quad \Delta w(n) = f(n, w(n)),$$

where $f(n, w(n)) = (M(n) - I)w(n)$.

Let Z denote the set

$$Z = N_0 \times D_r, \quad D_r = \{w = [w_1, w_2, w_3] : |w| < r\},$$

$$|w| = (w, u)^{\frac{1}{2}}, \quad (w, u) = \sum_{i=1}^3 w_i u_i, \quad D_r \subset R^3, r > 0$$

and in particular $r = +\infty$ is possible.

Theorem 5. *Assume that*

$$1^\circ \quad 2w \cdot f(n, w) + f(n, w) \cdot f(n, w) =$$

$$= \sum_{i=1}^3 [2w_i f_i(n, w) + f_i(n, w) \cdot f_i(n, w)] \leq 0$$

for each $(n, w) \in Z$,

$$2^\circ \quad \limsup_{\substack{n \rightarrow \infty \\ w \rightarrow \bar{w}}} [2w \cdot f(n, w) + f(n, w) \cdot f(n, w)] = \delta < 0$$

for any $\bar{w} \in D_r$, $|\bar{w}| > 0$.

Then all bounded solutions of equation (1) are convergent strongly.

Proof. It follows from Lemma 1 [3] that the solution $w = 0$ of (11) is stable.

Now we shall show that the solution $w = \varphi(n)$ of system (11) satisfies the condition

$$\lim_{n \rightarrow \infty} |\varphi(n)| = 0.$$

The function

$$(12) \quad u(n) = |\varphi(n)|^2 = \sum_{i=1}^3 (\varphi_i(n))^2$$

is non-increasing, because

$$(13) \quad \Delta u(n) = \sum_{i=1}^3 [(\varphi_i(n+1))^2 - (\varphi_i(n))^2] = \sum_{i=1}^3 \Delta \varphi_i(n) [\varphi_i(n+1) + \varphi_i(n)] \leq 0.$$

We will show that $\lim_{n \rightarrow \infty} u(n) = 0$.

For this purpose we assume that the least condition does not hold. Then $u(n) > 0$ and $\Delta u(n) \leq 0$ for any $n \in N(0)$ implies that

$$(14) \quad \lim_{n \rightarrow \infty} u(n) = \vartheta, \quad \vartheta > 0$$

From (12), (13), and (14) we conclude that there exists the limit

$$\limsup_{n \rightarrow \infty} \varphi(n) = \bar{w} \neq 0$$

and from assumption 2^o we infer that

$$\limsup_{n \rightarrow \infty} \Delta u(n) = \limsup_{n \rightarrow \infty} \sum_{i=1}^3 \Delta \varphi_i(n) [\varphi_i(n+1) + \varphi_i(n)] = \delta < 0.$$

Now from Lemma 2 [3] we have

$$\lim_{n \rightarrow \infty} u(n) = -\infty,$$

what contradicts (14) and all solutions tend to zero as $n \rightarrow \infty$.

According to Theorem 1 all bounded solutions of (1) are convergent strongly.

REFERENCES

1. LASOTA, A. – *On convergent to zero of the solutions of the second order differential equations*, Zeszyty Naukowe U.J. Prace Matematyczne 6(1961), 27-33.
2. MORCHAŁO, J. – *On convergence of solutions of second order nonlinear difference equations*, J. Appl. Math. Computing Vol. 12 (2003) N° 1-2, 59-66.
3. MORCHAŁO, J. – *Stability criteria for difference equations*, Analele Stntifice ale Univ. "Al. I. Cuza" Jasi, T.L, s. Ia, Mathematic, (2004), f.1, 111-126.
4. MUNTEAN, I. – *On the convergence of solutions of nonlinear differential systems*, Stud. Univ. Babes-Bolyai, Ser. Mat. Mech. 15, Fasc. 2 (1970), 9-16.
5. SWICK, K.E. – *Convergence of solutions of nonlinear differential equations*, Annali Mat. Pura ed Appl. TCXIV, (1977), 1-26.
6. YOSHIZAWA, T. – *On the Convergence of the Nonlinear Differential Equations*, Mem. Coll. Sci. Univ. of Kyoto, Ser. A. Math, 28(1954), 143-151.

Received: 11.VII.2005

Revised: 20.XII.2005

jmorchal@math.put.poznan.pl